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Instructions for Candidates

1 Write your Roll No. on the top immediately on receipt of this question paper.

2 Answer any 4 questions.

3. All questions carry equal (18.75) mark

4 Answers may be written either in English or Hindi; but the same medium should be
used throughout the paper
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Q1) (a) What do you mean by Production Possibility Curve (PPC) ? Discuss its implications and uses ?
(10)

TG HUTGT G5 § o1 GHId & ? 39 Migard ol SUANT &1 faaed & ?

(b) Discuss the factors that can shift the supply curve? (8.75)
3 HRP| BT faded &< S gl Iep ) uRafdd HR Iwar g ?
Q 2) (a) An increase in the price of coffee from Rs. 40 per 100 grams to Rs. 44 results in an increase
in demand of tea from 300 units to 400 units. Estimate the cross elasticity of demand and comment
on the results ? (6.75)
DIW! Bt B | g 40 SUAT UTA 100 TTH 44 3T & IRUTHRGEY 91 & AN H 300 SHTS § 400 SHE
G Il § | AT B faRe! dIa BT 701 - a1 o WR el X |

(b) What do you mean by price elasticity of demand ? Explain the various methods of measuring

price elasticity of demand. (12)



AN &) A/ T U § ? A St arg Ao o1 fafte faftrt &1 gui &3 |

Q 3) (a) Explain consumer’s equilibrium with the help of Indifference curve and budget line ? (8.75)
TCRIAT Ieh qYUT e QT B FgrIdl H SUHITAT &b T ol RS B |

(b) Using indifference curve analysis, show diagrammatically the effect on consumer’s
equilibrium of a decrease in the price of an inferior commodity ? (10)
TR doh fAReTUT BT IUANT HRd g4, Ub (A7 DIt D1 a¥g o1 H1ad | HHl § IUURTAT & Hge- WR
THIG BI ATHI gRT fdan |

Q 4) (a) Distinguish between returns to scale and returns to a factor? (8.75)
YA & UfAwhd 9UT e & Ufahd & s 3faR WY & |
(b) From the following cost function find TC, AFC, AVC, AC and MC. (10)

frafifad @ e @ T, AFC, AVC, ACTd MC I JTd Y |

Output Level TFC (Rs.) TVC (Rs.)
1 200 180
2 200 300
3 200 400
4 200 520
5 200 670
6 200 850
7 200 1050
8 200 1440
9 200 1890

10 200 2600

Q 5) (a) Discuss the long run equilibrium of a firm under perfect competition with suitable

diagrams ? (8.75)
T I T HI g ¥ Yol Uil & Siavid T WH & TddbTel= dgad o1 aui & |
(b) How do you derive supply curve of a perfectly competitive industry ? (10)
T U Uit IeahT & gfd aeh o1 HuR S HRAE |
Q6) Write short notes on any two : (9.37 x2)
frgl 1 TR Wi fewoft forg
(i) Total expenditure and elasticity of demand



AT B Al IUT Hol o

(ii) Properties of Indifference curves
TCRIAT b P! faRard

(iii) Relationship between Average Cost (AC) and Marginal Cost (MC)
3TRId AT s (AC) YT HHid AFA(MC) & e Fely

(iv) Producers Surplus
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